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CTET-II CDP Memory Based Questions

Q1. A student feels difficulties while watching
words and his eyes becomes red. It is an
example of
Ans: Visual impairment

Q2. Which of the following is an example of fine
motor skill?
Ans: Writing

Q3. Which theory proposes the four major
stages of cognitive development?
Ans: Piaget's theory of cognitive
development

Q4. Which one of the following is in the stages of
adaptation?
Ans: Assimilation and Accommodation

Q5. As per independently, the Zone of proximal
development is
Ans: Difference between what a child can do
independently and with assistance

Q6. Which term is not used by Vygotsky?
Ans: Equilibrium

CTET-II English Memory Based Question

Q1. Progressive education is focused on-
Ans: Active learning

Q2. In order to know the correct punctuation of
English words, the learner should
Ans: Know the spelling, meaning, and how
they are pronounced

Q3. Stephen Krashen'’s theory does not consist
of-
Ans: The learnability hypothesis

Q4.

Q5.

It is not true about the status of the English
language across the world-
Ans: English as a heritage language

Status of English in India-
Ans: Second language

CTET-II Mathematics Memory Based

Q1.

Q2.

Q3.

Q4.

Q5.

Question

Find the wrong term in the given series-
2,5,14,41,126, 365
Ans: 126

3 4 21
z Of;OfZ Of 504 =7
Ans: 84

What will be the value of x3+y3+z3, if
X+y+z=0
Ans: 3xyz

Find the simple interest on Rs 5200 for 2

years at 6% per annum-
Ans: Rs 624

A rectangular grassy plot is 112m long and
78m broad, it has a travel path 2.5 wide all
around it on the sides, finds the area of the
path-

Ans: 925 m?

CTET-II Science Memory Based Question

Q1.

Constructing a graph to describe the
relationship between the angle of incidence
and angle of reflection is an example of -
Ans: Communicating
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Q2.

Q3.

Q4.

Q5.

Q6.

Which of the following often distinguishes
the plant cells from animal cells?

a. Centrioles

b. Nucleus

c. Chromatin

d. Rough ER

Ans: (a) centrioles

There are two planets in our solar system
whose periods or revolution around the sun
are less than those or our earth, but their
periods of rotation are more as compared to
those of the earth. These planets are
Ans: Mercury and Venus

Which of the following is most desirable
practice to be adopted by a teacher for
introducing the topic friction?

Ans: Exploring student’s existing ideas

According to the National Curriculum
Framework 2005, science curriculum
should aim at addressing all of the following,
except

Ans: Improving student’s scores in exams

Which one of the following elements must
be available in sufficient quantity in the
water of a pond in at tadpoles are growing?
Ans: lodine

Q7.  Which of the following statements is/are
correct regarding image formation in the
plane mirror?

A.Image is erect

B. Image is real

C. Image is laterally inverted

D. The images size is the same as that of the
object

Ans:ACD

CTET-II Social Science Memory Based

Question

Q1. Which among the following animal is not
mentioned in the Sarnath pillar —
Ans: Deer

Q2. The early Buddhist scriptures were
composed in which language —
Ans: Pali

Q3. The famous battle of Talikota was fought in
Ans: 1565

Q4. When was the demand for a separate
Muslim nation accepted by the Muslim
League-

Ans: 1940

Q5. When were the High Courts established in
Calcutta, Bombay and Madras?
Ans: 1861
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